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ol HEFsY A CER-ED
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
O eZd=sd MEHAM(ZZE 70%)
20,000,000& * 14l 20,000
402 BIZHXHE0| A 24,000 24,000 0
01 RIZERt2E X 24,000 24,000 0
OFESIRIAY SF=SE &AY 12,000
ES 5,000,000& = 1& 5,000
- = 3,000,000 = 1& 3,000
-& o 2,000,000& * 2& 4,000
OUZ RS UM 202 NS 12,000
—3®= 5,000,000& = 1& 5,000
-2 = 3,000,000& = 1& 3,000
-& o 2,000,000& = 2& 4,000
HEdsg SHAY 940,712 1,173,200 N 232,488
301 et a3z 342,552 448,800 A 106,248
MIEE43 342,552 448,800 A 106,248
OZ=4 B (MHHsZ2)™HR K& 85,800
— MAEe S 5,000& = 13,000% 65,000
— MAA T 1,600& = 13,000% 20,800
OUERLE0E ElHMASIH Zed3d X
20,000& = 8,000& 160,000
OZESIHRI| MaEX s &
400,000& = 60ha 24,000
OHBASHES AZE +42 X
100,000& * 10024 10,000
O DA HBAUSH TAUX 2
848% * 74,000kg 62,752
402 2I2H X201 M 598,160 724,400 A 126,240
01 RIZEAt =282 X 598,160 724,400 A 126,240
Ol MihsJt 4EXNR(BEZE F3H)
1,600& = 60Z * 4,500ha 432,000
OZASASACT FBASASHARE
sHM X2 500,000& = 100ha = 70/100 35,000
OYFMEUC (HH52)HBEX N
1,000,000& = 100ha * 70/100 70,000
O=222 Asx=2 18
2,600,000 = 10ha * 70/100 18,200
OH =23 M2M&LD XX
7,500,000 = 7CH = 60/100 31,500
OAX = EHXEH
12,000& * 1,00008 * 50/100 6,000
OZ23HI=0 N AHEHMS N
1,300,000& = 6CH = 70/100 5,460
HSA=LAEINEM(Z) 71,000 105,000 34,000
= 71,000
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402 RI2EX20l A 74,176 78,100 N 3,924
= 37,088
< 11,126
Al 25,962
01 2I2tRE2E X 74,176 78,100 AN3,924
O=H&=3AU XA
211,206@ * 439ha * 80/100 74,176
= 37,088
= 11,126
Al 25,962
MASSEHAZINSAL(LEE)(2) 4,653,000 3,857,520 795,480
= 4,653,000
301 L2 L= 4,653,000 3,857,520 795,480
= 4,653,000
11IIEEAS 4,653,000 3,857,520 795,480
BASSHANEN LA
876,766.5& * 5,307ha 4,653,000
= 4,653,000
HASSBEXNEN 35,550 33,084 2,466
(=)
| 35,550
201 Let24d] 13,460 14,034 A574
| 13,460
01 At 2teltl 13,460 14,034 AB74
ORASSEHNFNEZH AAR YA
= 100,000& » 67 * 23] 13,400
J| 13,400
OBASSHHENFISH HHHA L FUE
= 60,0002 = 14! 60
| 60
202 oddl 18,720 15,600 3,120
| 18,720
01 = LH o4 1l 18,720 15,600 3,120
OURASSEMAZINEN A=A XN
i 20,000& = 78Y = 123l 18,720
| 18,720
301 L2 A F 3,370 3,450 A 80
| 3,370
09 HALAHIEA S 3,370 3,450 A 80
OURASSETAZINEN 433 AARARSE
ST 0 HI 10,000& * 67 * 23| 1,340
| 1,340
OURASSETAZINEN 433 AAARSE
SloX 2HHl 67,666.6% * 15J1L * 23] 2,030
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JABHEEZR(Z) 3,715 11,100 AT,385
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301 et a = 3,715 11,100 AT,385
= 2,601
< 334
Al 780
MIEEd3 3,715 11,100 AT,385
OFZ RS- RS ESES PR\ 1,857,500& * 2ha 3,715
= 2,601
< 334
Al 780
Aetdsg FBNE2(R) 1,920 1,920 0
< 576
Al 1,344
201 £B-2%| 1,920 1,920 0
< 576
Al 1,344
01 At 22l 1,920 1,920 0
Ozsd=sg 2K E=
8,000& * 208 » 123] 1,920
< 576
Al 1,344
HdEdsgadd=zItol 2 2,660 5,320 A 2,660
HEXAS(T)
< 790
Al 1,870
301 et d = 2,660 2,660 0
< 790
Al 1,870
06 212t01= 2| 04 Hl 2,660 2,660 0
OmREZ sl el o
3,800,000& = 1€ = 70/100 2,660
< 790
Al 1,870
HERIEFEIXNA(L) 561,834 395,634 166,200
= 155,567
Al 406,267
402 RI2EA=20l A 561,834 395,634 166,200
S 155,567
Al 406,267
01 RIZERI2E X 561,834 395,634 166,200
OHSISHEX
36,000,000 * 20004 * 70/100 504,000
< 144,000
Al 360,000
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1,270,000 = 7JH4 * 60/100 5,334
& 1,067
Al 4,267
OH =R & X HXA
150,000 * 700ha * 50/100 52,500
& 10,500
Al 42,000
SUOLMAH| KA (&) 96,000 28,000 68,000
< 28,800
Al 67,200
206 M = Hl 96,000 28,000 68,000
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Al 67,200
01 X2 bl 96,000 28,000 68,000
OYs AHIUI(LHE) N
40,000 = 2,400= 96,000
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Al 67,200
AEtd sHMAR(T) 21,000 16,800 4,200
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Al 16,800
402 Q12+ X2 0| & 21,000 16,800 4,200
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Al 16,800
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OYss ASBSNM 23
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= 15,120
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402 Q12+t X 20| & 50,400 70,000 A 19,600
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OESRETZLAKY
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OUR, BT S 4
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Al 11,200
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BAs9 A

SN HH-S(BN) - MBAY - B il HlnE2
402 RI2EX20l A 24,500 24,500 0
< 7,350
Al 17,150
01 RIZEAt2E X 24,500 24,500 0
OUHF=HESN A
1,000,000& * 35ha * 70/100 24,500
= 7,350
Al 17,150
SHEsNS AN 2UHIA (L) 13,500 46,500 A 33,000
< 4,050
Al 9,450
301 LEtE A= 13,500 46,500 A 33,000
< 4,050
Al 9,450
11IIEEAS 13,500 46,500 A 33,000
SLmp2 BE BHXY
5,000 * 9,00024 * 30/100 13,500
< 4,050
Al 9,450
A=2A2(2) 2,000 2,000 0
= 2,000
202 O4dl 2,000 2,000 0
= 2,000
01 =LHA YI 2,000 2,000 0
OL=22| X & ol 20,000& = 5% » 20 2,000
= 2,000
S A AT XNJAL(E) 39,420 39,420 0
< 11,826
Al 27,594
301 L2 A S 39,420 39,420 0
< 11,826
Al 27,594
11IIEIEAS 39,420 39,420 0
ONEEH HATHEHE X =4
540,000& = 73ha 39,420
< 11,826
Al 27,594
esHXNZI S AL (=2) 885,000 900, 488 A 15,488
= 885,000
301 PP BN 885,000 900, 488 A 15,488
2 885,000
11IIEEAS 885,000 900,488 A 15,488
Oe=sgAEXN=H 743,697& = 1,190ha 885,000
= 885,000
BITHOH 425X AL (E) 10,000 15,000 A5,000
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B AHAsY AEAY(SHHSLL/ S
Sl HBPsY A (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 3,000
Al 7,000
402 RIZFX20l ™ 10,000 15,000 25,000
< 3,000
Al 7,000
01 RIZEAt2EX 10,000 15,000 A5,000
ObiHEl &S (SSAXI]) NB ALY
10,000,000& * 2CH * 50/100 10,000
< 3,000
Al 7,000
HHBsStAIZ R ST X RALS (&) 32,000 0 32,000
< 9,600
Al 22,400
301 et a = 32,000 0 32,000
< 9,600
Al 22,400
NMIEEd=3 32,000 0 32,000
OB s ItALZ 2= THEH X &
400,000& = 80ha 32,000
< 9,600
Al 22,400
SRS 9,000 0 9,000
< 2,700
Al 6,300
402 RIZEX20| A 9,000 0 9,000
< 2,700
Al 6,300
01 RIZEAt2E X 9,000 0 9,000
Ost2MIH2s3= K&
60,000% * 3008 =* 50/100 9,000
< 2,700
Al 6,300
S3HS0IHSUHEZHMHL XA (S) 24,000 0 24,000
< 7,200
Al 16,800
402 BI2FX=01 M 24,000 0 24,000
= 7,200
Al 16,800
01 RIZERt2E X 24,000 0 24,000
OSZHI=0I0HCHS ZOHON L X &
1,200,000&  40CH = 50/100 24,000
< 7,200
Al 16,800
sl (sgadldsd/sdY - s&) 443,238 646,398 /203,160
= 5,400
Al 437,838
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i sgllsig(sdgdsd/sd - &)

©2: Xdsg JisHeg (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ne=se Jl=g 387,756 594,166 A 206,410
= 2,400
Al 385,356
o7, A", dEMY 120,771 123,923 A3,152
101 @124 dl 33,466 31,218 2,248
04 JIZHHZ2XRHEES 33,466 31,218 2,248
O+, AIE, dSAY HFo=Rgy 33,466
— s =sAlE 22 41,6803 x 2H » 50 4,168
—ASAE(OLZLIOH A, KA 3, =H =)
41,6809 * 2% * 1002 8,336
~ Y0l Y ZRASE B
41,6803 * 18 = 50 2,084
—Ofds, XESHE 2T 4L
41,6803 * 2% = 100 8,336
— AU HE 54 Y =2
41,6803 = 2% = 50 4,168
—&3t+== THHHAIE & B4
41,6803 = 3% = 30¢ 3,752
—JI2ZtH 22X 40 BEE=
30,844,000& * 8.5% 2,622
201 Let249] 25,955 22,555 3,400
01 At 22l 6,600 3,400 3,200
O¢=7, AIe, &SEE 3,300
—AHFE 20,0004 = 158 300
—=HEZE 50,000& » 1038 500
—UHEE 100,000& * 5& 500
— g 200,000& = 104 2,000
OAYMEZE MESAMA E2 S50
60,0002 * 54 300
OXZzeld &= 100,000& 53 = 13 500
Ox&zeld st 100,000& = 5& = 12l 500
Os&H Xt 500,000& = 1CH = 43 2,000
02 2524l 19,355 19,155 200
OANEgR 29 sIHRFH 2,125
- 8 1,850& * 5004 925
— IR 2,400& = 5004 1,200
OANEZEUH H2SRXYI 15,130
— Ztel At 10,000& » 33m’ 330
- Hd2dED 20,000& = 32m 640
— &0 2 EHIA 10,000& * 172m’ 1,720
— SR APA 10,000& = 268m 2,680
—fol=24 10,000& = 336m 3,360
—ssoteA 2 78 800,000& * 8= 6,400
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@2 N¥=sg Jsie (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OsJIH R XY 2,100
— EgH 500,000& * 1CH 500
— 22l | 200,000& * 3CH 600
— A9 4= 200,000& * 5& 1,000
206 M=l 14,600 23,000 A 8,400
01 & bl 14,600 23,000 A8,400
O30l A= 4,600
—sFAN= 10,000& = 300%E 3,000
—JIEN(RIES D], A=) 10,000& * 100 1,000
— @R S ASME 30,0008 * 203 600
o7, A8, dEZeY 10,000
~NABTY 9o 95
20,000& * 105 = 103 2,000
—-5832¢ 5,000& = 2002 1,000
— &5, M S 20,000& * 108 = 103 2,000
— & X 10,000& * 50& * 43 2,000
— 882 AIE X 10,000& * 300m 3,000
207 A T OH £ | 25,550 27,150 A 1,600
03 A& FH| 25,550 27,150 A 1,600
OFUXMSIHLASAIELSA 5,500
-3 ¥ 22 5,000& * 10& » 502 2,500
-=228 ZE 30& * 50,000H 1,500
—=2EE ME 9,000& * 100 900
— JH B XFXH 300,000& * 2& 600
OABAMEZ ASAE L 34 5,300
—IE 100 * 12,0004 1,200
— I E2A 40,0003 » 30 1,200
—& & 9,000& * 100%E 900
-, ME S 50,000 * 10 = 23 1,000
— XH HH XFXH 1,000,000& = 14 1,000
OotzLI0oF XIg9XsS ASAIE 2,500
-3 15,000& = 1002 1,500
— JH B XFXH 1,000,000& = 14 1,000
Od & =MAZ ASAE 2,250
-5 B 50,000& * 5& = 5= 1,250
— JXH 8H XHXH 1,000,000 * 14! 1,000
OdtA SHIMH 1,000,000& * 4= 4,000
OEYHHES /A8 EHIZHAIE
60,000& » 2& » 50E 6,000
301 dEtEAZ 1,200 0 1,200
09 HALAHIBEA = 1,200 0 1,200




AN seIIsHE

M sl (sgaLsd/sg8 - &)
©9: Xots JlsiHy (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLBANEZ MEH=ABA FHA 24
6,000& = 1002 = 23] 1,200
401 Al HIZ 2018 20,000 20,000 0
01 A& HI 20,000 20,000 0
ASAEE oA HE WA 12,000
— S5t A 10,000,000& * 1= 10,000
—H4ESateA 1,000,000 » 2= 2,000
OotAANEES 8,000
— S5t 1,000,000& » 3= 3,000
HsotRA 500,000& * 10= 5,000
SZETUSISHLHT2L 2Y 107,100 126,100 A 19,000
201 Let24EH] 32,100 26,100 6,000
01 At 22l 32,100 26,100 6,000
Osgdaslslgdas 723 = 26,100
-4 & 10,000,000 = 1H 10,000
— a3 5,000,000& = 29 10,000
—EXxHA2R 2,000,000 = 29H 4,000
— 223 70,000& = 15H « 23| 2,100
OXNETHLAH &2 X2 3,000,0008 » 2& 6,000
207 & RO 75,000 100,000 A 25,000
01 23 39H| 75,000 100,000 A 25,000
Osgddslis=lg a2 84 75,000
— S, ==, FAHELH)
25,000,000& * 31t Al 75,000
=TT 29 37,585 40,343 A2,758
101 @124l 12,665 13,923 21,258
04 JIZHHZ2Z2XNSE S 12,665 13,923 A 1,258
OHI0ltA =8 MaALY 1,668
— &3 ¥ |2 Ma2g
41,6803 = 2% » 20 1,668
OGFA S ASS HuAR ASAY 3,752
— A3 ¥ s422
41,680 * 1¥ = 50 2,084
—=3 ¥ S5 Mdatae
41,680 * 2H = 20 1,668
O=3sR=SZ 4L AJFASAY 6,252
— 258 AW 41,680 = 18 = 50 2,084
-8 ¥ S22 41,6803 = 2% = 50 4,168
OJIZHZ22HUHEE = 11,672,000 * 8.5% 993
201 Let24E] 16,420 19,920 A 3,500
01 At 22l 100 3,600 A 3,500




AN seIIsHE

M sl (sgaLsd/sg8 - &)
©9: Xots JlsiHy (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Og4a A3 1=l 50,000& » 29H 100
02 =24l 16,320 16,320 0
ONEHRE HHEFIHI(ZR)
1,850& = 44 = 12Al12t = 50 » 3[H 13,320
O34 ZHl =X bl 500,000& = 63 3,000
207 O H] 8,500 6,500 2,000
03 Al & 11 Hl 8,500 6,500 2,000
OSMTIAAIRE A% M2 2,000
— AN, ZEUE S 200,000& = 104 2,000
OSFFY ASFTESHY HIASAY 3,600
—ASZE R 1,600& = 1,0004 1,600
— AN A& S 1,000,000& * 23] 2,000
O=3R=SZ 4L AJAUSAY 2,900
— 33 R 900& = 1,000 900
— TH BH RHAH 200,000& = 53| 1,000
— AT ¥ s 250,000& * 43 1,000
28 M2 HEAIE 2 75,200 103,800 A 28,600
101 @144 Hl 12,000 12,000 0
04 JIZHHZ2XREES 12,000 12,000 0
SE0ME s 29 12,000
—Jlsoe 50,0003 = 1% = 240 12,000
201 £B-2%H| 19,100 19,100 0
01 At 22l 3,700 3,700 0
ORS0dSHi2s atd M
300,000& = 338 900
ORZ0MSH A Oole &4 X
10,000& = 10=FA = 43| 400
ORZ04SHAA OOIEHEHEE EUFRE
200,000& = 23l 400
os2xzg & MI M= 2,000& = 1,000 2,000
02 2324l 15,400 15,400 0
ORE0l4=ui2&H = X8l 300,000&8 * 85 2,400
ORZ04SH s KX 2l
1,000,000& * 1= 1,000
OFE0IMSHHLA IS
1,000,000& » 12& 12,000
206 M= Hl 44,100 52,700 A 8,600
01 =8l 44,100 52,700 A 8,600
ORE0MSHLAE2INZ 44,100
— Ol 24 St 2 HH X 700,000& * 35 = 193] 39,900
— DS =XFE 20,000& » 108 200
— Ol EEE 5,000& » 3004 1,500




2N

SIS dH

HH: sgllsigd (st sE)
©2: Xdsg JisHeg (&)
SN BA(SA) - MRAY - BES il HImEET
—Dd=SHE2EM S 250,000& = 108 2,500
oSS 2ER 29 39,100 39,100
201 Let24d] 11,000 11,000
01 At 22l 8,000 8,000
OHsrs M 223 5& 5,000
—AHF 20,000& » 50& 1,000
—=S2Z 50,000& » 208 1,000
—SgEza 1,000,000& * 14l 1,000
— OhLH & 200,000& = 104 2,000
os=2gs¥d 1,000& = 3,000% 3,000
02 =224l 3,000 3,000
OAIZ = XlHI 3,000
—Orssd HE. 2FEE2
1,000,000& * 3& 3,000
206 = Hl 8,100 8,100
01 =8l 8,100 8,100
Oslsd 2= 1,400
— SIS E 10,000& » 503 500
—&E 9,000& » 100%& 900
OSEX=2 24 2,600
-3= 20,000& » 803 1,600
— XH BH Xt TH 100,000& * 103 1,000
OHOHE & 2¢ 2,500
-3= 50,000& * 203 1,000
—Hz, 5% 30,000& = 10& = 53l 1,500
O=dME sXd 2 1,600
—SYAS 50,000& » 20& 1,000
— =HAS 30,000& » 208 600
401 Al HI YL =2 Tl 20,000 20,000
01 A& Bl 20,000 20,000
OXgsets MEHEE = =
20,000,000& * 14l 20,000
SHESETHH SN =4 () 8,000 8,000
< 2,400
Al 5,600
402 2I2H X201 M 8,000 8,000
< 2,400
Al 5,600
01 RIZEAt=2E X 8,000 8,000
OF L XMstA S THEH Al
10,000,000& = 1JHA * 80/100 8,000
< 2,400




2N

SIS dH

M sl (sgaLsd/sg8 - &)
©2: Xdsg JisHeg (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | Al 5,600
sHMEen L MAHA 55,482 52,232 3,250
< 3,000
Al 52,482
S HME s w 4,610 3,660 950
201 ¢et24] 1,560 1,560 0
01 At 22l 1,560 1,560 0
OREoSI|et 780
— WU 15,000& * 40%H 600
—EB8Y 60,000& * 3MHA * 13 180
O &0l et 780
—WEUM 15,000& = 209 = 27| 600
—E28s9 60,000& * 3M A * 13 180
206 M= Hl 1,700 1,400 300
01 MHZ 4l 1,700 1,400 300
O &BSIE nEMEs 500
-, %A 48 S
10,000& = 5& * 20 * 50/100 500
OJNEHUBNEHE 600
— & &, OHALE 3HatA S
5,000& * 38 » 20 * 43 * 50/100 600
O0glol =Mus 2 600
—ME A& BN
1,000& = 3&  20& * 103 600
301 et d = 1,350 700 650
09 SALAHIEA S 800 700 100
Ot HAHA ES T O H|
80,000& = 5% « 23| 800
1MIIEBELSS 550 0 550
OHECSIE s ZA+E 330
—Jlz= 70,000& = 1AI2t = 33 210
— Xz 40,0002 = 1AlI2t * 33l 120
OJNEJME nE A= 220
—Jz= 70,000& = 1AI2t * 23] 140
= = 40,000& * 1AlI2F * 23] 80
ANRIE3tZ32E AAl 15,872 48,572 A 32,700
201 YEt2 | 8,492 13,192 A 4,700
01 At 22l 500 500 0
OdAl 2 HE 5,000& = 1004 500
02 =224l 7,992 7,992 0
OdaAMa 2=t
1,850 » 24 = 24A12F = 90 « 1CH 7,992




AN seIIsHE

M sl (sgaLsd/sg8 - &)
S sPHEST L ¥ HAIHAM (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
206 M= Hl 7,380 10,380 A 3,000
01 =8l 7,380 10,380 A 3,000
OFHE 248 Ha 1,500
-3 R 500& = 1,000 500
-3 = 2,000 » 5004 1,000
OEEHMANE M=z 3,480
— dAlEZE 20,000& = 504 1,000
—=4&E, DIME &  8,0008 » 28 * 30% 480
—EEZaM 100,000& » 20= 2,000
OXAIZ 2Z(0rMs 822 2 S) 2,400
-7 8,000& = 508 « 33l 1,200
—s=+Y 10,000& * 304 300
—dAIHE 30,000& = 303 900
=38 Al E 20,000 0 20,000
307 gl2tol & 20,000 0 20,000
04 RIZHHAIE RS 20,000 0 20,000
O=EAIS (=2 90%) 20,000,000& * 13 20,000
Or 2 3t & Al 3 5,000 0 5,000
307 glz2tol & 5,000 0 5,000
04 RIZIHAIE RS 5,000 0 5,000
OOt MAIBI (2EXE 90%)
5,000,000& = 13l 5,000
SN2 MEAWII=LER(S) 10,000 0 10,000
< 3,000
Al 7,000
201 LB-2E| 1,600 0 1,600
< 480
Al 1,120
01 At 2t 2l 1,600 0 1,600
OsMzZZ Ml JIzus 29
20,000& = 21+& = 409 1,600
< 480
Al 1,120
206 M= Hl 5,400 0 5,400
< 1,620
Al 3,780
01 =8l 5,400 0 5,400
Odgus g7
54,0003 * 208 * 53l 5,400
< 1,620
Al 3,780
301 L2 A= 3,000 0 3,000
< 900




AN seIIsHE

H: Szl (sEHlYEbt/sY - &)
Sl SRS D U HAIA (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Al 2,100
09 HAIAH EA=S 1,600 0 1,600
O s XA 80,000& * 20Y¥ 1,600
= 480
Al 1,120
11 IIEtE &2 1,400 0 1,400
O=sMZ2 MERAW Jzusg A=Y 1,400
— JFE 30l Bt 200,000 = 43| 800
= 240
Al 560
— M ER 0l Bt 200,000& * 33| 600
= 180
Al 420
HEHSHAH (S K ESW)(IJIEH/DIE 144,068 138, 106 5,962
Jl=2 3l 144,068 138, 106 5,962
JlE23Hl 144,068 138, 106 5,962
201 Bt A H| 33,668 32,236 1,432
01 AtR 22l bl 33,668 32,236 1,432
OSAIEX #¢ 13,0008 * 248tA « 128 3,744
OEZuAadl 6,000& * 64 x 2494 * 12& 10,368
Otz 100,000& = 12& 1,200
OALTAR T ALY 50,000& * 12& 600
O =44 10,630
— SAMI| 2 (AE") 500,000& = 1.504 750
— SAMI £2(0E) 1,000,000& * 1CH 1,000
— ZEEDl %2l 100,000  6CH = 50/100 300
— 2A EY 200,000 = 53] = 1.50H 1,500
— TR EH(E8) 200,000 * 53] * 604 6,000
—PC =2l 100,000 * 2404 = 20/100 480
—JIEt =2ly| 50,000 * 12& 600
OJIEt AFR2EZH] 5,0008 * 24% = 12& 1,440
[OFF=PNEN 5,686
— SASA 7Y 13,000& *» 38+A x 12& 468
— EZ20HAH] 6,000& * 34! x 3% x 12& 648
— btz 100,000& * 3 A 300
— A2 =44 4,090
SAD| 2 (AE)
500,000& *= 100 * 3 A 1,500
Zely 2l
100,000 * 3J0HA = 50/100 150
SA EY 200,000& = 53] = 104 1,000
el EY 200,000€ * 23| * 3 A 1,200
- PC #£=2| 100,000 * 3CH = 20/100 60




2N

X{ XH -
S =

SIS dH

HYLABH (SEX

S ) (IIEH/DIE)

¢l =gl (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- JIEt =2lHl 60,0003 » 30H A 180
—JIEt AR ESHI 5,000& = 3¥ * 12& 180
202 O4dl 106,200 101,670 4,530
01 = LH o4 4l 106,200 86,670 19,530
OsZEXN&l RFA ol 96,000
— 2t o4 dl 20,0003 249 » 122 » 128 69,120
— 220 dl 80,000& * 24Y x 14« 26,880
OXRX 2 HRFE K| 10,200
— 2o Yl 250,000 = 3H = 12& 9,000
— 22yl 80,000& = 3H 5« 1,200
203 ¥ S =&l 4,200 4,200 0
04 FENSEHR=LH 4,200 4,200 0
ORNSYYLSTY (SEXNED)
350,000& = 123 4,200
SEFAD|E T (s = - &) 6,534,652 5,206,646 1,328,006
= 652,699
=1 800,000
J| 366,790
< 885,118
Al 3,830,045
StRMY |4 1,700,680 1,344,200 356,480
= 15,000
J| 168,825
< 313,007
Al 1,203,848
SO M AFHAIS (Z) 23,000 36,800 A 13,800
< 6,900
Al 16,100
306 =493 23,000 36,800 A 13,800
< 6,900
Al 16,100
01 &3 23,000 36,800 213,800
OSO0HXI 4 A OFF ALY
20,000& * 2,300 =* 50/100 23,000
< 6,900
Al 16,100
TMNSHATIAAS(Z) 78,000 100,200 222,200
< 23,400
Al 54,600
301 et a = 18,000 18,000 0
< 5,400
Al 12,600
MIIEBE4d3 18,000 18,000 0
OZ=&g ZAE AIEEX =4
900,000& = 20ha 18,000




A sgI=HH
HE: MASMIIE M (SHHSL/5Y - 58)
el BeMl R4 CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 5,400
Al 12,600
402 DI2HX 20| & 60,000 82,200 A22,200
& 18,000
Al 42,000
01 Q228 X 60,000 82,200 N 22,200
OXASMAIH XA
40,000,000 = 14 = 60/100 24,000
< 7,200
Al 16,800
OAMEZHIE DX &
30,000,000& * 2CH = 60/100 36,000
& 10,800
Al 25,200
AFER B 4 AIY 456,000 390,300 65,700
201 LBt ]| 49,000 25,000 24,000
01 AP 22| d| 29,000 5,000 24,000
OY9Fste BiE S8AIY =& 29,000
—HEA EF&2 EE 2,000,000 = 128 24,000
—E2= MZ 4002 « 5,00000 * 2= 4,000
— M 200,000& = 504 1,000
02 2224 H| 20,000 20,000 0
Ot &8 215 20,000,000 ~ 182 20,000
206 M = dl 51,000 0 51,000
01 X2 4| 51,000 0 51,000
OZ2i0|g BdE e HES 4 51,000
— SaEr 2l 2,000,000& * 25& 50,000
—2FAMNE W2 P
1,000 = 1,0007H 1,000
301 LBt A= 126,500 50,300 76,200
09 HAIAHIBEAZ 1,500 1,500 0
OstFAIUZ 85 24 300,000 * 5% 1,500
11 JIEtE A= 125,000 48,800 76,200
OY9F=EMNAL EEANY 500,000& = 2505 125,000
402 SI2F X201 & 229,500 315,000 A 85,500
01 QI2t X2 X 229,500 315,000 A 85,500
ONEZL x5 BEHE LAY 120,000
—NdEFI|AtEH X&
100,000 = 1,000 = 50/100 50,000
— AFER SAX DEHSIAIY
10,000€ * 10,0005 = 70/100 70,000
OZ2i0|g BdE e HES 4 24,500




AN sg€II=4dH
HE: MASMIIE M (SHHSL/5Y - 58)
Sl BRMY T4 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— 8y SN2 (RFYH) SHAS
700,000& » 50& = 70/100 24,500
OZgUdl aRA=EsIH S3I1 XN&E
300,000 * 400CH = 50/100 60,000
Ost2EE HAE=EX
50,000& * 1,00090 * 50/100 25,000
TAIZMAD|BE S ALY () 284,700 195,600 89,100
J| 110,700
= 52,200
Al 121,800
301 et d = 216,000 135,000 81,000
J| 72,000
S 43,200
Al 100,800
NIIEEd=s 216,000 135,000 81,000
OA el Xl HMZHl
60,000& * 4,000& =* 90/100 216,000
J| 72,000
< 43,200
Al 100,800
402 RI2EX=201 A 68,700 60,600 8,100
J| 38,700
< 9,000
Al 21,000
01 RIZEAI2E X 68,700 60,600 8,100
OF-PNE: ]| 120,000& = 625ha * 70/100 52,500
J| 22,500
< 9,000
Al 21,000
OHZEX™el HE 100,000& * 5408 = 30/100 16,200
J| 16,200
SIRIMSAIE (=) 113,810 82,200 31,610
< 34,143
Al 79,667
301 et d s 19,250 0 19,250
< 5,775
Al 13,475
NJEEd=s 19,250 0 19,250
OB ~FRI0IAAY
550,000& = 505 = 70/100 19,250
< 5,775
Al 13,475
307 glz2tol & 87,360 82,200 5,160
< 26,208
Al 61,152
02 RIZHEANEXS 87,360 82,200 5,160
Ot SSSEHIXNA 6,000& = 7,600 45,600




ol rx O
40 ™ 12

g
x

Q rx M
e
o

A
0x
Ol
o
%

>
)
0x

S B G(SA) - NRANY - BES il 2
= 13,680
Al 31,920
Ot Z XHEH 1AM
60,000% = 2505 = 80/100 12,000
=) 3,600
Al 8,400
OgtRIsdEEA ML 1,000& * 7,6005 7,600
< 2,280
Al 5,320
OstRLEHAM D 10,000& = 1,000 10,000
=) 3,000
Al 7,000
Ost X &eldl 2,0008 = 7,600 * 80/100 12,160
< 3,648
Al 8,512
402 212t X201 & 7,200 0 7,200
< 2,160
Al 5,040
01 22t E2E X 7,200 0 7,200
Oe=0lE Ht2Z2Ee2HI XA
1,200,000& = 10CH * 60/100 7,200
< 2,160
Al 5,040
SNMSIIINMASE(Z) 194,620 102,570 92,050
< 57,636
Al 136,984
402 2I2tXE201 & 194,620 102,570 92,050
S 57,636
Al 136,984
01 22tttz 2 & 194,620 102,570 92,050
OOISRHE M A4 H DR HIX &
17,000,000& = 2J0 4 * 60/100 20,400
< 6,120
Al 14,280
OX=HAEZ AKX EAS
1,250& = 10,0005 =+ 80/100 10,000
< 2,250
Al 7,750
Osg4 we34Il N
250,000& = 30JH = 60/100 4,500
< 1,350
Al 3,150
OLEDZZJIJI X &
20,000& * 8,00020 * 60/100 96,000
< 28,800
Al 67,200
OLHHERAEXH
16,000,000& = 54 * 60/100 48,000
< 14,400




sgJlsdH
SAFLE T (s L2/ - &)
gy |54 (che:=el)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 33,600
Og4s ARSI X2
700,000& = 1674 * 60/100 6,720
< 2,016
Al 4,704
ONMEMBE AMFH2II| N
1,500,000 = 1008 = 60/100 9,000
< 2,700
Al 6,300
EMEsRsgdsH(%) 54,900 99,900 A 45,000
< 16,470
Al 38,430
307 glz2tol & 18,900 18,900 0
< 5,670
Al 13,230
02 QItFAEXZ 18,900 18,900 0
OHDII0IZ =X FQAE X &
18,900,000& * 1H 18,900
< 5,670
Al 13,230
402 RIZ2EXH20| A 36,000 81,000 A 45,000
< 10,800
Al 25,200
01 QIZEAt2E X 36,000 81,000 A 45,000
OMSTHHY NITHIIXA
3,000,000 * 20CH * 60/100 36,000
< 10,800
Al 25,200
EMHSHEXA(E 75,000 63,750 11,250
< 22,500
Al 52,500
307 glz2tol & 75,000 63,750 11,250
< 22,500
Al 52,500
05 RIZHRI &t 3 75,000 63,750 11,250
OJMN=MHEE 2 XA
3,000,000% * 100& =* 25/100 75,000
= 22,500
Al 52,500
Ar201EH(=) 116,250 117,180 A 930
J| 58,125
< 17,438
Al 40,687
307 glz2tol & 116,250 117,180 A 930
J| 58,125
< 17,438
Al 40,687




sgJlsdH
HESMIE ZH(SLHS LM/ - S&)
gy |54 EA)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
02 2B AEXS 116,250 117,180 A 930
OFHS0l8H(HEEH
9,300& = 12,5005 116,250
J| 58,125
< 17,438
Al 40,687
ASIREMEXA(Z) 160,500 75,300 85,200
< 48,150
Al 112,350
307 glz2+ol & 160,500 75,300 85,200
= 48,150
Al 112,350
02 QItFAEXZ 160,500 75,300 85,200
OZMEHZA(ONA)KIA 30,000& * 6005 18,000
< 5,400
Al 12,600
Osti1sSs &otdd &
150,000& * 9505 142,500
= 42,750
Al 99,750
SUHFHMPLLEE(Z) 113,900 80,400 33,500
= 34,170
Al 79,730
307 21201 A 113,900 80,400 33,500
< 34,170
Al 79,730
02 2B AEXS 113,900 80,400 33,500
ODZAS SBHES SHAY
670,000& = 1705 113,900
< 34,170
Al 79,730
Ft2 XeldHdEE(R) 30,000 0 30,000
= 15,000
Al 15,000
307 21201 A 30,000 0 30,000
= 15,000
Al 15,000
02 2B AEXS 30,000 0 30,000
OYFe2 NANCHER =
30,000,000 = 14l 30,000
= 15,000
Al 15,000
=dgE 22 2,040,272 1,990,751 49,521
= 637,699
J| 59,140
< 253,826
Al 1,089,607




2N
X ZH -
L= B

el

x

i

S
0R rz M
Mz

0%

Mo oor
A e
ru T m
DAl

0x

Ol

o

%

02

1

Bt

Ol

Q

i

[l

rz i

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

It

=] Yo Ne]3
S |

TOHI(=2)

o

B

= Hn W

595,428

382,595
63,850
148,983

,502

206 M= Hl

= N H

335,600
216,529
35,722
83,349

, 702

22,898

335,600,000 * 14

= N W

335

335
216
35
83

,600

,600
,529
722
,349

702

22,898

=z N W

259
166

28,

65

,828
,066
128
,634

202,

800

57,028

NJIeEd=s

OTFHY BHAXA(Ms)
2,000& 180,760

OHXIM B BtOI A olgeal XI&
2,000& * 65,8905

* 50/100

* 60/100

Z W

= W

259

180
126

37

79
39

27

,828

,760
,532
,268
,960

,068
,534
,860
,674

202,

800

57,028

B~
Jis
2l
iz
]
]
e
HT
0
=2
M

=z W

300
40
28

231

,000
,551
,386
,063

276,

000

24,000

=z N H

300
40
28

231

,000
,551
,386
,063

276,

000

24,000

12,0003 = 25,0005

= N W

300

300

,000

,000
,551
,386
,063

276,

000

24,000

SSEHE XN (=)

H

Al

41

,280
,140
742
,398

,280

307 glztol &

Jl

118
59

,280
,140

,280




fAM: sgIlsdH
HE: MASMIIE M (SHHSL/5Y - 58)
o9l JlEMYY 2 (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 17,742
Al 41,398
02 QIAHFAEXS 118,280 118,280 0
Oax=sAZAE 33,289,000& * 28 66,578
| 33,289
S 9,987
Al 23,302
OAsXJA22dl 17,234,0008 * 3X 51,702
| 25,851
= 7,755
Al 18,096
IIEEYu AL (Z) 400,540 361,593 38,947
< 124,482
Al 276,058
206 M= Hl 187,610 161,273 26,337
< 56,283
Al 131,327
01 =8l 187,610 161,273 26,337
OTHY S YANY(ASAE)
10,000& = 3,920kg 39,200
< 11,760
Al 27,440
OTHY S Yoir (L)
6,000& = 1,500 9,000
< 2,700
Al 6,300
OIS oL XIS (S0HK & A E)
20,816,000& * 14l 20,816
= 6.245
Al 14,571
ONEZHYULAXNA (LS EISE A
4,000 * 2,830% 11,320
< 3,396
Al 7,924
ONEZHYEULAXNIA(H 2E22Y)
10& = 2,260,000 22,600
< 6,780
Al 15,820
ON=ZYHULAXNA(HNSEIHHA)
2,800&  3,8305 10,724
= 3,217
Al 7,507
ONESZHYML AN (LS = MO 2er)
1,000& » 6,660 6,660
= 1,998
Al 4,662
ONSZHYUSAXNA(RARHE 0 )
6,666,000& * 14! 6,666
< 2,000
Al 4,666




A sgI=HH
HE: MASMIIE M (SHHSL/5Y - 58)
el JlEHYY 28 CEEEED
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
OJF=2 2 02 o X 2 (PARS)
2,000& * 5,480 10,960
& 3,288
Al 7,672
opEF L ETETEPSE=IETS)
10,600& * 420 4,452
= 1,336
Al 3,116
OJIEdgig2I(BEYES=S0IEWE
o) 8922 « 6,660F 5,941
= 1,782
Al 4,159
OBAMAEY A2G M XA 39,271,000& ~ 14 39,271
= 11,781
Al 27,490
301 et A= 109,890 102,880 7,010
o= 37,287
Al 72,603
11 JIEtE &= 109,890 102,880 7,010
OJIEgdolHY N (BE24e WEEH-H|)
12,000& * 1,750 21,000
= 6,300
Al 14,700
OJtsgtdolAd| XS (HLEES A=)
3,000& * 15,2305 45,690
= 13,707
Al 31,983
o224 900,000& * 49¥ * 12& 43,200
& 17,280
Al 25,920
402 QIR Ol & 103,040 97,440 5,600
== 30,912
Al 72,128
01 QI2tXE8 X 103,040 97,440 5,600
OASAEXNIANL(UHA2ASAIY)
24,000,000 ~ 1A = 70/100 16,800
& 5,040
Al 11,760
OASAEXNIANL(ERI2ASAIE)
5,000,000€ * 10904 = 70/100 35,000
& 10,500
Al 24,500
OASAEXNIANG (sHASYAD])
1,400,0009 = 4504 A = 70/100 44,100
& 13,230
Al 30,870
OXFIILMX&AAES
30,000 = 34004 = 70/100 7,140
o= 2,142
Al 4,998




sgJlsdH
HREMIIY FL(SEHSLL/ 5D - SE)
EHEY 28 7:8E)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=Y He 346,918 426,608 AT9,690
101 @124 dl 3,126 2,916 210
04 DIt 22 XREES 3,126 2,916 210
O"E JIsdzZYE Mol 88 oY
41,6803 = 18 » 75 3,126
201 LB-2dH| 44,692 28,092 16,600
01 At 2t 2l 35,200 18,600 16,600
Oxil=dgd g = 10,500
— =g A 3,000& = 3,000 9,000
— 2% 22 2l ME
100& = 3,00000 » 38 900
— &g ol 82 M= 60,0008 * 1004 600
OFMeE. EXF4de 22 = 4,800
— A2 A HE 10,000& » 1008 1,000
—ASAAN JER 100& = 3,0000H 300
—od JtEIY 22E
500& = 3,0008 * 28 3,000
—MHE=F W 100& = 5,0000H 500
OJ=dgd WA US| 400,000 * 2504 10,000
OBEYALoN =4 X2
350,000& * 12& 4,200
OJ=dgY X2 ZH dx=
200,000& * 153l 3,000
OJI=LE@ 4o E&=  300,0008 » 9H 2,700
02 =224l 9,492 9,492 0
OFHMY wal 2Y Heldl  1,500& = 1,000kg 1,500
OgIA=ZHl =AHl
100,000 = 30CH * 50/100 1,500
OJN=ZY ZAMAIZ &bl 60,0008 * 12 720
OA2=8 RFU  1,850& = 150 * 404 * 523 5,772
206 M= Hl 110,900 113,100 A2,200
01 = tl 110,900 113,100 A 2,200
OH &gtz 2 10& » 3,000,000 » 12 30,000
OzZag IH=sedd &35 72¢
20,000& = 250kg * 2& 10,000
OZBQERAUT YA ASUHE
20,0003 = 250kg * 2& 10,000
OJI=Z2Y 3T AM=2e AIY 2 25 2
2 45,000
—HYEZAN AT 3,000,000 * 5& 15,000
—EAGY olgwd (R, 2 A WA,
&) 10,000,000& * 3& 30,000
Ox E24det 42 ME +
00,000& » 305 6,000




AN sg€II=4dH
HE: MASMIIE M (SHHSL/5Y - 58)
Sel: DAY 28 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Osd £g¢& 295 ¢ 5,000& ~ 600€ 3,000
O4 S242Y YMST 128 443 7
3,000& = 150% » 102 4,500
Ooz&d Hils ¥3g8J #¢
1,200& = 2,0008 2,400
301 et A3 159,200 112,400 46,800
1MIIEESS 159,200 112,400 46,800
OJI=Z2Y HEsT UASAY AlE MFHI
2,000& = 4,000 8,000
OF MY 8al HE Al=tl
3,000& = 33,0005 99,000
Oz =& 900,000& = 4 « 128 43,200
O 2242 S 2E2 AHY Heall
300,000& » 305 9,000
402 RI2EX=01 M 21,000 18,000 3,000
01 RIZEAt=2E X 21,000 18,000 3,000
OJ=Z2Y HFUSAMNY sZALSAE X2
3,000,000% * 1094 = 70/100 21,000
405 XHobF S HI 8,000 0 8,000
01 AR ESFH S 8,000 0 8,000
OJIEHGY WASY M8 WED 2
500,000& = 16CH 8,000
AMEEASNNA(S) 250,000 250,000 0
= 200,000
< 15,000
Al 35,000
301 LAz 250,000 250,000 0
= 200,000
< 15,000
Al 35,000
1MIIEBESS 250,000 250,000 0
HHE2NS 5,000,000& * 505 250,000
= 200,000
< 15,000
Al 35,000
EUVHEEEM(F) 29,106 42,768 A 13,662
= 14,553
< 4,366
Al 10,187
301 et d = 29,106 42,768 A 13,662
= 14,553
= 4,366
Al 10,187
MIIEEd=S 29,106 42,768 A 13,662
OFUINSSEMANE
118,800& * 490CH = 50/100 29,106




oo

A e

x

i

S
0R rz M
Sz

0%

r T m

N F
0x
Ol
o
on
02
4
>
Ol
1%
it
[l

rz i

- - _ =]
SN EH . (3H) - HEAY - B %Eﬁ HDS2
= 14,553
& 4,366
Al 10,187
g 15 2 =28 2,081,150 1,044,545 1,036,605
= 800,000
Jl 130,025
= 260,895
Al 890,230
StNRKRIA(2) 247,250 247,000 250
Dl 123,625
T 24,725
Al 98,900
301 dEtE A= 247,250 247,000 250
Dl 123,625
T 24,725
Al 98,900
11 IIEtE &2 247,250 247,000 250
Osgtnessal 4303 * 2,3009 = 250 247,250
Il 123,625
< 24,725
Al 98,900
SsXE(=) 61,320 71,520 £10,200
& 18,396
Al 42,924
301 et a3 14,520 14,520 0
& 4,356
Al 10,164
11 JIEtE &2 14,520 14,520 0
ORASEMSAS 58,000& * 1905 11,020
& 3,306
Al 7,714
ORZ d3AY
2,000& * 2,500 = 70/100 3,500
& 1,050
Al 2,450
402 212t X201 A 46,800 57,000 210,200
< 14,040
Al 32,760
01 It X 46,800 57,000 A 10,200
ORI X &
15,000,000& = 1CH = 60/100 9,000
T 2,700
Al 6,300
OFR&EHISEUS
50,000,000 = 1A = 60/100 30,000
& 9,000
Al 21,000




0% rx O

=PI
RELI|E ZH (SHHS SN/ - 5&)
adlet 15 2 B2

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
SREVEENFINE
13,000,000 * 10 = 60/100 7,800
= 2,340
Al 5,460
SNNRFAS () 79,400 57,000 22,400
& 16,820
Al 62,580
206 M = d| 6,400 0 6,400
& 1,920
Al 4,480
01 X2 H| 6,400 0 6,400
OHXSazAdaX 200,000& * 3204 6,400
o 1,920
Al 4480
301 et A= 73,000 57,000 16,000
& 14,900
Al 58,100
11 J|EtE A S 73,000 57,000 16,000
O2YRE=B ALY
400,000& * 3505 = 50/100 70,000
< 14,000
Al 56,000
O=EAED |t E A 60,000 * 5000 A 3,000
& 900
Al 2,100
UHKLAH(Z) 114,000 224,400 A 110,400
& 34,200
Al 79,800
402 SI2FXHE0| M 114,000 224,400 A 110,400
o= 34,200
Al 79,800
01 QI2t X2 X 114,000 224,400 A 110,400
OHetHXX & 80 = 1,500,000 * 60/100 72,000
o=} 21,600
Al 50,400
O2AH NsS=HI XS
7,000,000 * 10902 = 60/100 42,000
=} 12,600
Al 29,400
AMEAMZIMD(E) 18,000 18,000 0
& 5,400
Al 12,600
307 QI2t0| & 18,000 18,000 0
& 5,400
Al 12,600
02 A2tAMNEBEXZ 8,000 8,000 0




fAH: =gl
|

HE: MASMIIE M (SHHSL/5Y - 58)
ool AR IE U B CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OSAMEEHENMEIISAH XS
16,000,000 * 14! = 50/100 8,000
= 2,400
Al 5,600
04 QI2tHAIE X = 10,000 10,000 0
OZMSAHETHAX 10,000,000 * 13] 10,000
= 3,000
Al 7,000
IIEANEDIBE X4 110,110 105, 155 4,955
201 et 6,100 6, 100 0
01 AR 22l ] 6,100 6,100 0
OF/MER 28 =X 3,300
— 30 60,000 = 1504 900
—E2= 300 = 2,0000H » 4= 2,400
OFNsIH nsl |2l
4,000€ * 1008 » 3= 1,200
OFAAGE 2te| & 2tE
20,000 * 1000 » 5= 1,000
O848 24 =2
30,000 * 100 = 23| 600
206 T 24 1,200 1,200 0
01 XHZ H| 1,200 1,200 0
Oxg2d2d9 (=88 F2¢) 6002 * 2,000 1,200
301 et A= 16,560 16,480 80
09 HAIAHIBEAZ 2,800 2,800 0
OFAtsIF 1= | 80,000& = 35H 2,800
11 JIEtE &2 13,760 13,680 80
OXEASE ¢« 248 13,480
-S5 8,000& * 200% 1,600
— 23 1,800 * 6,6005% 11,880
OEMSsIE s LAY 280
—Je2= 70,000 * 1AI2F * 43| 280
307 2Iz2t0| & 7,500 7,500 0
02 It A8 X2 7,500 7,500 0
O4Ys d(&E0)XH
15,000,000 = 1J0HA = 50/100 7,500
402 DIZHRFE0I A 78,750 73,875 4,875
01 Q228 X 78,750 73,875 4,875
OMBEZE e =X 7Y
250,000 = 130ha * 70/100 22,750
OYz=dE ME=2 2J|(€2H)72¢
800¥ * 25,0000 = 50/100 10,000




fAH: =gl
|

HE: MASMIIE M (SHHSL/5Y - 58)
Sl MDY NE U B (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oxg 28 H&gE Axd XN
2,200& = 20,00000 * 50/100 22,000
OANs=8 88 BE2AME &X
9,000,000& = 2CH = 50/100 9,000
OLEZE =3d84E MS(HHE,TMR) 2 X
300,000& = 100€ = 50/100 15,000
stAAstNZAXA(T) 164,470 170,870 A 6,400
< 32,894
Al 131,576
301 LEtE A= 164,470 170,870 A 6,400
< 32,894
Al 131,576
1MIIEEAS 164,470 170,870 A 6,400
Osteda stngAMIA  164,470,0008 » 14 164,470
< 32,894
Al 131,576
LSXNAAS () 72,600 47,400 25,200
< 21,780
Al 50,820
402 RIZ2HXt201 ™ 72,600 47,400 25,200
< 21,780
Al 50,820
01 RIZERI 22X 72,600 47,400 25,200
O2gs2X& 8,000& = 6,000kg * 60/100 28,800
< 8,640
Al 20,160
OXNsESIXE
1,000,000 = 31CH * 60/100 18,600
< 5,580
Al 13,020
OLsdtEe M2MEFAXH
6,000,000 * 7JH<4 = 60/100 25,200
= 7,560
Al 17,640
E A SHACCPH A E X2 (=) 11,200 28,000 A 16,800
J| 6,400
< 1,440
Al 3,360
301 gt d= 11,200 28,000 A 16,800
J| 6,400
< 1,440
Al 3,360
1MIIEBELSS 11,200 28,000 A 16,800
OFAMSHACCPAH E E (s F) ALY
8,000,000 * 2Ji4 = 70/100 11,200
J| 6,400
< 1,440
Al 3,360




fAM: sgIlsdH
HE: MASMIIE M (SHHSL/5Y - 58)
ool AR IE U B (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
YaASHUH(T) 30,800 41,800 A 11,000
< 9,240
Al 21,560
402 RI2EX=20| M 30,800 39,000 A 8,200
< 9,240
Al 21,560
01 RIZERt2E X 30,800 39,000 28,200
OHAE 2E ALY
12,000,000 = 25 =* 70/100 16,800
< 5,040
Al 11,760
OZASAIESZMNL XA
20,000,000& * 1JH<4 = 70/100 14,000
< 4,200
Al 9,800
SFHE NJAY 32,000 0 32,000
307 glz2tol & 32,000 0 32,000
04 RIZHHAIE RS 32,000 0 32,000
OS+SME MB U ESSF HA
24,000,000 = 141 * 50/100 12,000
OE4ES STHHAN X
20,000,000 = 23] * 50/100 20,000
GIOIOLE St =H XI& 20,000 0 20,000
307 gl2tol & 20,000 0 20,000
04 RIZIHALE X S 20,000 0 20,000
OMJIOLE FFE2EM AHIEA A
20,000,000& = 23] * 50/100 20,000
SHENISEMISRA(S) 1,120,000 0 1,120,000
& 800,000
< 96,000
Al 224,000
402 RI2HXt20l 1,120,000 0 1,120,000
= 800,000
= 96,000
Al 224,000
01 22t 2E X 1,120,000 0 1,120,000
OdbIZHESRSHH HEXNIA(ZSEH)
1,600,000,000& * 1Al = 70/100 1,120,000
= 800,000
< 96,000
Al 224,000
Ed =654 668,100 811,350 A 143,250
| 8,800
< 57,390
Al 601,910
SMEEHMAAMNE(Z) 22,700 206,600 A 183,900




A sgI=HH
HE: MASMIIE M (SHHSL/5Y - 58)
@ 2EE SN =4 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o ﬁlf& HD=2
Pl 8,800
& 4,170
Al 9,730
402 QI2v X220l & 22,700 152,600 A 129,900
Jl 8,800
= 4,170
Al 9,730
01 It X 22,700 152,600 A 129,900
ONE2arel XA (HEHBXE)
17,000,000 * 1A = 70/100 11,900
J| 3,400
== 2,550
Al 5,950
ONE2LHANAAY (HEAL)
27,000,000 = 1J0HA = 40/100 10,800
Dl 5,400
o= 1,620
Al 3,780
SASMIRAMNS(E) 177,400 241,350 A 63,950
& 53,220
Al 124,180
301 dEtE A= 9,800 7,350 2,450
= 2,940
Al 6,860
11 J|EtE A2 9,800 7,350 2,450
SEEEENWELETP
700,000& = 20& = 70/100 9,800
& 2,940
Al 6,860
402 Q12+t X2 0| & 167,600 84,000 83,600
& 50,280
Al 117,320
01 2IZ2tXtE2e X 167,600 84,000 83,600
OFHOIZ2 HER2MAS
120,000€ = 300A! = 70/100 25,200
& 7,560
Al 17,640
ONSEHHI MA DIMZIIXA
4,000,000 = 5CH = 70/100 14,000
== 4,200
Al 9,800
OHALUSE A2 M X
30,000& * 5,600% = 70/100 117,600
& 35,280
Al 82,320
OAMEXHED NsS2EEXEEX X
300,000& = 60CH *~ 60/100 10,800
== 3,240
Al 7,560




2N

X{ XH -
S =

el

EEBIERE
MRS S (SEHSLL /59 - 5&)
S EIENRE

(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
e SMXA 468,000 363,400 104,600

206 M = Hl 20,000 20,000 0
01 X2 H| 20,000 20,000 0]
ODlME MAS HIX 2
10,000& = 2,0004 20,000
402 SI2F X201 M 448,000 343,400 104,600
01 QI2t X2 X 448,000 343,400 104,600
OFAH SZIE=2 IM(EILMNZ22
2,000 = 400,000kg * 50/100 400,000
Ox 2EH X&
50,000€ * 1,000" = 50/100 25,000
OHX 2=H K&
100,000& = 400= = 50/100 20,000
0% MSSIt 4HMZ 2ZEM X2
200,000€ = 305 * 50/100 3,000

s B3 44,450 15,800 28,650

SIsSE Es22 44,450 15,800 28,650
201 et d| 6,800 5,000 1,800
01 AP 2t 2| bl 5,000 5,000 0

O==SEHMN 222 H& 2,000,000& = 14l 2,000
ORJs2E 227X € x&H|
50,000 = 605 3,000
02 Z2=2=24%4| 1,800 0 1,800
OssEs4dH fXH (HI)I22,£2523)
150,000& * 12& 1,800
206 M = Hl 11,400 0 11,400
01 X2 Hl 11,400 0 11,400
Os22s3dH 29 JIAH2Y
10,000& * 105 = 1094 1,000
O=ss2sdH BE5H A2 2
15,000&¢ = 30%E * 12& 5,400
O=S2EEM Al MR (AHEEI, AT
s) 10,000 = 5005 5,000
301 LBt A= 10,250 0 10,250
11 JIEtE2 A= 10,250 0 10,250
OS=SEHM A HE SSHAI|Z Al
10,000 = 5005 5,000
ORIIsE L84 35,0008 = 1505 5,250
307 QI2t0| & 15,000 10,800 4,200
05 QIZtRES 15,000 10,800 4,200
Os22sHH 22 29|
1,250,000 = 1¥ x 12& 15,000
405 XHAHFEIEHI 1,000 0 1,000
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A sgI=HH
M BMNG AN (SEHLLL/ 5 - 5E)
Sl BADlE 23 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O = Xl 22l 68,000 0 68,000
201 LBt 9 ]| 10,000 0 10,000
01 AP 22| H| 10,000 0 10,000
OFHY HEX &Y Lxz2
2,500,0008 * 43| 10,000
206 M = Hl 40,000 0 40,000
01 X2 H| 40,000 0 40,000
OOl X &HHl M=8 2¢ 100,000 » 100 10,000
OMSK M3 &L 2H(SEH)FR
2,500,000 = 4= 10,000
OJI= HEX SEEd 22 100,000 = 200CH 20,000
301 et A= 18,000 0 18,000
11 JIEtE A= 18,000 0 18,000
OIN=ZHHSK (01X ESI HEX) X2
9,000,000& = 20 A 18,000
O SEMSMAI S (MI=ESAY)(2) 30,000 0 30,000
= 15,000
Al 15,000
402 SI2vXHE0| ™ 30,000 0 30,000
= 15,000
Al 15,000
01 812t X 30,000 0 30,000
OCtESEASMAMI=(2CHAF IUX 22 &
OFM AL Dl =) 30,000,000& * 1A 30,000
= 15,000
Al 15,000
ARHYEI=0ES K HUHAME (=) 113,126 0 113,126
= 56,563
= 16,969
Al 39,594
201 et 9| 104,726 0 104,726
= 52,363
= 15,709
Al 36,654
01 AR 22l ] 101,126 0 101,126
OAH&EIHE X & 500,000& = 80CH 40,000
= 20,000
& 6,000
Al 14,000
OAZ=2te| 1= 600
- &= 200,0008 = 2H 400
= 200
& 60
Al 140
— &5t 100,000 = 29H 200




FM s
33 5
=

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

100
30
70

OJNEMESX 22X 30,263,0008 * 242 60,526

30,263
9,079

21,184

3,600 0 3,600

= Hn W

= N W

O o
4 0
= {0
e e
2 =

o
Pl
M
1]
pall

ter =X 2eldl
300,000& = 1CH = 128 3,600
1,800
540
1,260

= W

206 M= Hl 8,400 0 8,400
4,200
1,260
2,940

= W

01 M= dl 8,400 0 8,400
OSY A 75 300,000 * 28% 8,400
4,200

1,260
2,940

to

=z N H

THAMS K &

0
g
[
H

18,000 0 18,000
< 5,400
Al 12,600

101 1Al 18,000 0 18,000

5,400
Al 12,600

H

04 JI2tHI 2

osAs

g H
oo

2= 18,000 0 18,000
CH

1,500,000& = 29 » 63 18,000
5,400
12,600

= M

Jn
ton
2
1o
0=
[P
S|
s
P
0x
O
i
%
02
1>
[
Ny
O
)
OF
i

1,903,304 2,573,266 A 669,962

35,046
154,000
98,849
347,030
1,268,379

02 H

S

H

=

ot
S|
o
0z
0y
02
Iy
oy
ton

694,425 1,514,866 A 820,441
59,600
213,820
421,005

=z HnY

Qlat Mot JjEtEE 1,600 64,466 A 62,866

301 €EtE A= 1,600 0 1,600

09 HALMHI BN = 1,600 0 1,600




AN sg€II=4dH
M SSAS MAIIY TH(SYHLLM/S - 5E)
S Sole ZdHE A5t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O3J1ea XelHEA OlALE HH A ¢H|
g 80,000& = 10¥ = 23] 1,600
Ol RSTIE(Z) 521,800 697,000 A 175,200
= 187,000
Al 334,800
402 RI2EX=201 M 521,800 697,000 A 175,200
< 187,000
Al 334,800
01 RIZERI2E X 521,800 697,000 A 175,200
OUMYNP(LYTIMN) X8
70,000,000 * 2.5ha * 50/100 87,500
< 17,500
Al 70,000
OCIATHEY SUHStAIE XA (SEHIMAAL
) 25,000,000 * 4ha * 50/100 50,000
< 10,000
Al 40,000
Oolat BAL=IH X
62,000,000& * 14l * 50/100 31,000
< 6,200
Al 24,800
OQ& LHMSHAIE (ZTHRIZ) K&
40,000,000 * 17.665ha * 50/100 353,300
< 153,300
Al 200,000
ZEEZAES IS UL EALAHAY 17,025 8,400 8,625
201 Ler24E] 17,025 8,400 8,625
02 =224l 17,025 8,400 8,625
OLepdZ T 233 (MJIez, AHUAMESE,
It E B A= =T) 800,000& = 123 9,600
OLEDE Z & AlAE |RRE+ 1,237,500 * 68 7,425
OIAULITHBHAI B KT & (=) 149,000 0 149,000
J| 59,600
< 26,820
Al 62,580
402 RIZER20l ™ 149,000 0 149,000
J| 59,600
< 26,820
Al 62,580
01 QIZERt 22X 149,000 0 149,000
O HMaHAIE(ETHXI=) K&
40,000,000 * 7.45ha * 50/100 149,000
J| 59,600
< 26,820
Al 62,580
LBAEHZEL SO 22X 5,000 0 5,000
307 glz2+ol & 5,000 0 5,000




A sgI=HH
M SSAS MAIIY TH(SYHLLM/S - 5E)
el Eolola M 23t (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
04 Q2tHAIE X = 5,000 0 5,000
OABAMEZN ZEI|CL SHHE AISEAF
10,000,000 * 13 = 50/100 5,000
ESIEZE MA 1,208,879 1,058,400 150,479
= 35,046
2 154,000
J| 39,249
& 133,210
Al 847,374
MASEH=SSH (L) 324,500 397,500 A73,000
& 64,900
Al 259,600
402 SI2FXHE0| & 324,500 397,500 A 73,000
= 64,900
Al 259,600
01 Q228 X 324,500 397,500 A 73,000
OasSx=2EdNSsHAH 260,500
—WMHE slAAEX
20,000& * 11,900m" = 50/100 119,000
o=t 23,800
Al 95,200
—0sSAMd2MED &X
6,000,000 = 6JHA * 50/100 18,000
o= 3,600
Al 14,400
—AS&E sIIH € ALK
247,000,000 = 14! %= 50/100 123,500
& 24,700
Al 98,800
OBIE=TN A A EHEI S ALY
128,000,000 = 14! % 50/100 64,000
= 12,800
Al 51,200
SIS MAANEAMEN DR () 80,000 80,000 0
o=} 24,000
Al 56,000
402 SI2vXHE0| ™ 80,000 80,000 0
= 24,000
Al 56,000
01 QIZ2tXE8 X 80,000 80,000 0
OSIZ| MAA DA MSA Y DX
20,000,000& * 8JH A = 50/100 80,000
o= 24,000
Al 56,000
M sEag g4 275,000 330,000 A 55,000
402 12t XHE0| & 275,000 330,000 A 55,000
01 QI2tXE8 X 275,000 330,000 A 55,000




AN sg€II=4dH
M SSAS MAIIY TH(SYHLLM/S - 5E)
ool SHERS M CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMaxZsE 2AE 25 XNE
100,000& * 1,900 = 50/100 95,000
OdNs8&E 32 X
6,000& = 30,000% =* 50/100 90,000
OLXNMaZ=SEH S K&
10,000,000& = 18I0 & = 50/100 90,000
ANEES A= E4 112,550 54,400 58,150
301 et d = 3,200 2,800 400
09 HALAHIEA S 3,200 2,800 400
Oola & S&=IF JlsAHE ol
80,000& = 20¥ =« 23l 3,200
402 2I2H X201 M 109,350 51,600 57,750
01 RIZEAI=2E X 109,350 51,600 57,750
Ogg=x MasIt XIEAY 55,350
— e ELMEH
25,000& * 2,700% * 50/100 33,750
—ZIEE 24,000& * 1,800& =* 50/100 21,600
OF&Zd RI =XM XN (XNSMLHESE) 44,000
— Ol gt 1,600,000& * 30ha * 13l * 50/100 24,000
—f0Ne U %=
100,000& * 200ha * 23l * 50/100 20,000
OAxA=ZEL SN 10,000
— OFXI =0 2,000& * 10,00020 * 50/100 10,000
ANEZ0 diUX0E S83AE (=) 74,206 0 74,206
= 35,046
< 11,748
Al 27,412
402 RIZEXE0| A 74,206 0 74,206
= 35,046
< 11,748
Al 27,412
01 IZERI 22X 74,206 0 74,206
OlUHXIZZAIE XA
13,000& * 3,164m * 50/100 20,566
= 8,226
< 3,702
Al 8,638
OSMHEIHZI X3
15,000& * 5,960m * 60/100 53,640
= 26,820
< 8,046
Al 18,774
DEHIJIHETHEHAIE K& (=) 98,123 136,500 A 38,377
J| 39,249
< 17,662
Al 41,212




AN sg€II=4dH
M SSAS MAIIY TH(SYHLLM/S - 5E)
ool SHERS M CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 RI2EX20l A 98,123 136,500 A 38,377
J| 39,249
< 17,662
Al 41,212
01 RIZEAt2E X 98,123 136,500 A 38,377
OILFHIJIEMEHAIE X &
20,000& * 9,812.3m * 50/100 98,123
J| 39,249
= 17,662
Al 41,212
AZMERLTNE(Z) 74,500 60,000 14,500
< 14,900
Al 59,600
402 RI2EX=201 A 74,500 60,000 14,500
< 14,900
Al 59,600
01 RIZERt2E X 74,500 60,000 14,500
OASHE sJIAH £ NEXE
149,000,000& = 141 * 50/100 74,500
< 14,900
Al 59,600
ABASLUSHESRR(F) 170,000 0 170,000
& 154,000
Al 16,000
307 glz2+ol & 170,000 0 170,000
& 154,000
Al 16,000
02 QItFAE XS 170,000 0 170,000
O%SHBAY B3N
170,000,000& * 14l 170,000
& 154,000
Al 16,000
ASHRE MDD IzsE S (sHHESM /5 - &) 28,360 148,150 A 119,790
= 4,050
Al 24,310
OHE XA THHIOI= E= 28,360 148,150 A 119,790
< 4,050
Al 24,310
HFUHE Jls2s 14,860 7,150 7,710
201 Let249] 1,600 1,600 0
01 At 22l 1,600 1,600 0
ORHES20F NEXHE HE(UEH, M S
) 400,000& * 43 1,600
206 M= Hl 1,800 1,000 800
01 MHZ 4l 1,800 1,000 800
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SIS dH

A 40 MADIE A (SHHSLL/HSEL - OfF)
SRl 4B 2 T4 EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 6,000
Al 14,000
206 2 20,000 20,000 0
& 6,000
Al 14,000
01 X2 4| 20,000 20,000 0
OZMAXO Hgs(2A)
1,000 * 20,0000¢}2] 20,000
< 6,000
Al 14,000
HYE2IINMRR(Z) 3,920 3,920 0
& 1,176
Al 2,744
402 12V X201 & 3,920 3,920 0]
< 1,176
Al 2,744
01 Q228 X 3,920 3,920 0
OUNz=HAANE JIXHS2
700,000€¢ = 8CH * 70/100 3,920
< 1,176
Al 2,744
HELSABH(SMERI| =) (IIEH/IIE 112,565 109,875 2,690
ol 2HH| 9,323 9,323 0
ol =AY 9,323 9,323 0
101 Q124 H| 9,323 9,323 0
02 DB 2 4 9,323 9,323 0
OZEZYALIAN A22SY
5,807& * 1Y x 30AI2 » 12&8 2,123
OBZYAL0A YABS H2I
600,000& ~ 1€ * 12& 7,200
Jl2&ddl 103,242 100,552 2,690
Jl2 &4l 103,242 100,552 2,690
201 et | 21,842 21,842 0
01 AR 22l ] 21,842 21,842 0
OZ2AMNEXN 7L 13,000 = 198fA x 128 2,964
OSZ20aldl 6,000& * 64! x 198 x 12&€ 8,208
Ogbte=3 100,000& * 12& 1,200
OARE T HFAH| 50,000 = 12&€ 600
OAL7R =44 7,730
— Z2AH| %2l 500,000 = 1CH 500
— T2l 22| 100,000 = 5CH = 50/100 250
— A EUY 200,000& * 53] ~ 1CH 1,000




AN seIIsHE
HH: HH2LSLH(FASHII=D)(JIEH/IIE

chelr D123l (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
— ZEH EH(SH)
200,000& = 53| = 5CH 5,000
—PC =¢cl 100,000&  19CH = 20/100 380
— JIE =2ldl 50,000& = 12& 600
OJIEH AR 22|l 5,000& = 199 » 12& 1,140
202 oddl 77,200 74,510 2,690
01 = LH o4 1l 77,200 74,510 2,690
OFHERI =0 HR2FA Al 76,000
— 2o bl 20,0002 = 19% » 12 » 128 54,720
— 220l 80,000& = 19Y% = 14« 21,280
OZS& =2 At (44| 1,200
— 2L HI 20,0003 * 1% * 42 * 123 960
— 220yl 80,000& = 1 » 3« 240
203 R =&l 4,200 4,200 0
04 EAN2IHR2FEHI 4,200 4,200 0
ORNEALLFTH (SHSRIISD)
350,000& = 12& 4,200
SHE FE(s8ildsd/sY - &) 4,152,276 1,654,906 2,497,370
2 33,850
& 1,500,000
S 736,450
Al 1,881,976
FSIlEtRs 4,152,276 1,654,906 2,497,370
2 33,850
& 1,500,000
= 736,450
Al 1,881,976
sHtE =552 38,676 47,920 A9, 244
101 14 Hl 18,756 28,000 A9,244
04 DI Z2XRHEE S 18,756 28,000 A9,244
OUg AL &0 0lE Q¥ 1Ay
41,6803 * 3% = 150 18,756
201 Let249] 4,800 4,800 0
01 At 22l 4,800 4,800 0
Ostte R8H3 € =558 s =% HMA
60,000& = 104 600
O+2=xgol A5 HaLY
70,000& * 43| » 159 4,200
402 RI2EX20| M 15,120 15,120 0
01 2I2tX2E X 15,120 15,120 0
OWUet Atlt>&E SESI HZEEY-AEX X
36,000& * 600JH * 70/100 15,120
SASIB A |4 151,600 7,000 144,600




fAM: sgIlsdH
MY M2 SE(SUNLLL/SY - 5E)
SEHET SRR CERED
2 S 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
301 L2 A= 1,600 7,000 A5,400
09 HALAHIE& S 1,600 7,000 25,400
OJsdtdsd & =& AMLUE WU EH
80,000& = 10¥ * 2 * 13 1,600
402 RI2EX=20l A 150,000 0 150,000
01 22t E2E X 150,000 0 150,000
OYs sa2 HZALLER N
300,000,000 = 14l * 50/100 150,000
sUSUIFEHH EX1(=2) 3,300,000 0 3,300,000
& 1,500,000
< 540,000
Al 1,260,000
401 Al HI & 28I 1,500,000 0 1,500,000
& 600,000
< 270,000
Al 630,000
01 A& HI 1,471,650 0 1,471,650
OGS FSHH A2 1,471,650
—GFSHMNESRSHEH A2 (&)
1,500,000,000& * 1A » 3.01/100 45,150
=1 18,060
< 8,127
Al 18,963
—AXTSAMERESHEH A2 (AIEH])
1,500,000,000& * 1A * 95.1/100 1,426,500
= 570,600
< 256,770
Al 599,130
02 Zeltl 22,950 0 22,950
OIFsiEsrsSdH AEE
1,500,000,000& * 1Al » 1.53/100 22,950
& 9,180
< 4,131
Al 9,639
03 Al 20 HI 5,400 0 5,400
OYFSHSRSHE AL
1,500,000,000& * 1Al » 0.36/100 5,400
& 2,160
< 972
Al 2,268
402 RI2HXt20l ™ 1,800,000 0 1,800,000
& 900,000
< 270,000
Al 630,000
01 2I2tR2E X 1,800,000 0 1,800,000
OsttEttisSdHEX
3,000,000,000& * 1Al % 60/100 1,800,000
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Off &t 24
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i
2m

= W

900,000
270,000
630,000

10

1>
Ot
>
Mo
sl

b

2l (GAP) M

= N

49,000
33,850

4,550
10,600

49,000

307 21201 A

= 0N W

49,000
33,850

4,550
10,600

49,

000

OGAPRI S =t ot ™ & 20 A KT & (

|
50,000&

ot
ra
. 0

= MW

49,000

49,000
33,850

4,550
10,600

49,

000

= M

613,000

191,900
421,100

1,040,986

N427,

986

301 gEtE &=

2l

Al

120,000

24,000
96,000

890,810

ANTT0,

810

H

Al

120,000
120,000

120,000

24,000
96,000

890,810

ATT0,

810

307 glztol &

Al

240,000

72,000
168,000

240,

000

02 pl2FAEXR

300,000,000& * 80/100

M

Al

240,000

240,000

72,000
168,000

240,

000

402 It Xt=01

Al

253,000

95,900
157,100

150,176

102,

824

01 I2tXt=28 =
It
=

SUCHBAY DAY

(=2

35,000,000& * 80/100

2 MAIE KA

250,000,000& * 50/100

tn

Al

t

253,000

28,000

8,400
19,600

125,000
37,500

160,176

102,

824




SN =

MY M2 SE(SUNLLL/SY - 5E)
SEHET SRR CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 87,500
MG &AAINSHESY
100,000,000& * 14l 100,000
< 50,000
Al 50,000
x2S (sgillgst/sg8 - &) 1,594,732 1,338,938 255,794
& 400,000
< 40,087
Al 1,154,645
w3 HE L3t 1,594,732 1,338,938 255,794
& 400,000
< 40,087
Al 1,154,645
=SS XA ALY 674,628 627,338 47,290
201 €24l 20,220 16,830 3,390
01 At 22l 18,220 14,830 3,390
Ot~ 10,000
—= - S4=s 222 A 10,000
-HEsEs+Y 250,000& * 4Z& 1,000
- AEIA 50& = 10,00001 = 23 1,000
-ol=™ 100& = 20,00000 = 13 2,000
SS3I M 2,000& =+ 3,000 6,000
OZ=AtUYECLSI| XNE28s =<
70,0003 = 23H =« 23| 3,220
OgxFstt=msSdH 234
5,000,000& = 14! 5,000
02 =24l 2,000 2,000 0
OAttF=4tR AME 2823 2E3
2,000,000& = 13l 2,000
203 YR =] 3,000 3,000 0
03 Al =AY 2= 3,000 3,000 0
OAMH#ZHEH S =AY 3,000,000& * 14l 3,000
301 et d s 50,000 50,000 0
NIJIEEd=s 50,000 50,000 0
OMU=Zs0t JIXH (BIALZE  HMSKX)S
X 1,000,000 * 100ha * 50/100 50,000
307 gl2tol & 295,408 516,408 A 221,000
02 RIZHENEXS 295,408 331,408 A 36,000
OZ=AL 222 (RE3) N (Exs8 3H
) 20,000,000& * 14l 20,000
OZ3= Nz23s did+=&58 88 N (BxX
£ 70%) 20,000,000& * 14l 20,000
oot0lelE F=F:At §35sIF 488 XA
1,200& * 626,000&f &t * 34/100 255,408




sgJlsdH
RS (sguddsd/s2 - 5&)
Hrms3HEH 25 (9 ® =)
o
SN FH-SA(EN) - MBAY - BES e HlnE2
308 XXM SO0l A 50,000 0 50,000
05 HXSHMARE = 50,000 0 50,000
OLAIIBAIE SUs AL (RLES)
50,000,000& * 14l 50,000
402 RI2EX=20l A 25,000 14,000 11,000
01 RIZEAI=2E X 25,000 14,000 11,000
Oz E2H SSA4S BUHEAZH AHA
o 1,500,000% * 20= * 50/100 15,000
OAMES)| YE2H0t +28)| N
4,0002 * 5,0000H * 50/100 10,000
405 XHoHF S HI 231,000 0 231,000
01 AL EZFH S 231,000 0 231,000
OgFsitE2as4dH 253H # 231,000
— PVC & Xt 5,500& = 25,0004 137,500
— oty = 55,000& = 5004 27,500
— K AX 33,000,000& * 20K 66,000
+E=YIUIIBEH(T) 196,434 208,800 A 12,366
< 39,287
Al 157,147
402 RI2EXt20l ™ 196,434 208,800 A 12,366
= 39,287
Al 157,147
01 22X 2E X 196,434 208,800 A 12,366
Otld st 2 AR IMG (I Y
IR S) 170,000,000& * 141 = 60/100 102,000
< 20,400
Al 81,600
OlgelAtn HS3tAt
157,390,000 * 60/100 94,434
< 18,887
Al 75,547
HEAPCZZI(Z) 2,800 2,800 0
< 800
Al 2,000
301 et A3z 2,800 2,800 0
< 800
Al 2,000
06 212t2I= 204 Hl 2,800 2,800 0
Osd=2 S FHRSALAE HX0HY 220l
4,000,000& * 70/100 2,800
< 800
Al 2,000
HEEXNGAS () 500,000 500,000 0
= 400,000
Al 100,000




fAM: sgIlsdH
B DARE(SEHLLM/5Y - 5E)
Sl BARSIM L5 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 L2l 180,000 250,000 A70,000
2 144,000
Al 36,000
01 At 22l 180,000 250,000 A70,000
OYZAD UFth ZEEE - B2 S
60,000,000 * 34l 180,000
2 144,000
Al 36,000
307 glz2tol & 200,000 140,000 60,000
& 160,000
Al 40,000
02 QItFAE XS 200,000 30,000 170,000
OFXZXNAAY A2t 35,000
-E EE RSB E PN E LT
3 29 35,000,000 * 14 35,000
2 28,000
Al 7,000
OFZXNGAMY BHEEHS 165,000
~BS0, EATTEWO L SHHA
105,000,000& * 14l 105,000
2 84,000
Al 21,000
—SSLEY dE 28 60,000,000& * 14 60,000
2 48,000
Al 12,000
402 RI2HX20l 120,000 110,000 10,000
2 96,000
Al 24,000
01 DI2tX2 8 X 120,000 110,000 10,000
OFEXGAMY &ML 120,000
—ZE3M MEXHA 110,000,000& * 1Al 110,000
& 88,000
Al 22,000
—&3HY 10,000,000 * 14l 10,000
& 8,000
Al 2,000
AU SSIEEH X 36,000 0 36,000
307 gl2tol & 36,000 0 36,000
02 QIZtFNE XS 36,000 0 36,000
Og&=sJt 88H XI& 36,000
~SHUUCS AWE)| B0 dBH X
21,2008 = 50,0004 Xt = 285 * 30/100 36,000
LSS SEHAXA 44,870 0 44,870
307 glz2tol & 44,870 0 44,870
04 RIZIHAIE RS 44,870 0 44,870




2N

=Ry EEEE )
ooy bol @ )
5 - 4
(B1H) - HEAY - B2 Ol At o %@ﬁ HRE2
280 BE E28AN NS 44,870
SHAF XI&
35,800,000& = 70/100 25,060
AEL EHA XS
14,300,000€ * 70/100 10,010
ESEEMA XS
7,000,000 * 282 ~ 70/100 9,800
AFAIDEE 140,000 0 140,000
140,000 0 140,000
140,000 0 140,000
Mo NEHAH(EEZES 80%)
20,000,000& * 14! 20,000
SE A 80,000,000& * 13 80,000
Il MEHAH(EBZE 80%)
30,000,000 * 14! 30,000
EE AIA A 5,000,000& * 23| 10,000
== =Y - ==) 1,150,780 1,116,520 34,260
2 83,000
& 10,500
Al 1,057,280
SENMSE EBE 1,150,780 1,116,520 34,260
2 83,000
& 10,500
Al 1,057,280
35,800 127,920 N92,120
35,800 91,200 A B5,400
35,800 34,500 1,300
Al EE S L0 (13 2)
60,000 = 30H 1,800
AL EES MIZE
300 = 10,0000H 3,000
ArS ZET M
500 = 5,0000H = 34! 7,500
O0IAHEEN 2d0 e s822 2!
200,000& * 103 2,000
SX dxaz
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